Tabulation of Bids

AROOSTOOK Counties:

District(s): NORTHERN REGION

Call Order: Project(s):

Contract Time: 10/05/19 COMPLETION DATE

023997.00

March 27, 2019

Contract ID:

Letting Date:

Maine Department of Transportation A True Copy:_____

Title : _____ Attest:

Con	tract Description:	EASTON - FOR	T FAIRFIE	Notary Public					
Line No / Item ID Item Description				(1) Eurovia Atlantic Coast LLC aka Northeast Paving		(2) SODERBERG COMPANY, INC.			
Alt Set	/ Alt Member	Quantity a	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1 HIC	GHWAY ITEMS		Cat Alt Set:	Cat Alt Member:	LCC:			
0010	202.203	1,310.000 1	,310.000	16.00000	20,960.00	20.00000	26,200.00		
PAVEME	NT BUTT JOINTS	SY	SY						
0020	403.209	180.000	180.000	350.00000	63,000.00	300.00000	54,000.00		
	ASPHALT 9.5 MM LKS, DRIVES, TALS)	Т	Т						
0030	403.211	3,280.000 3	3,280.000	128.00000	419,840.00	200.00000	656,000.00		
HOT MIX	ASPHALT (SHIMMING	G) T	Т						
0040	409.15	5,590.000 5	5,590.000	7.00000	39,130.00	15.00000	83,850.00		
BITUMIN APPLIED	OUS TACK COAT -	G	G						
0050	411.10	90.000	90.000	80.00000	7,200.00	50.00000	4,500.00		
	TED AGGREGATE E COURSE (TRUCK RE)	CY	CY						
0060	411.12	20.000	20.000	44.00000	880.00	40.00000	800.00		
CRUSHE	D STONE SURFACE	Т	Т						
0070	461.210	4,710.000 4	,710.000	99.00000	466,290.00	150.00000	706,500.00		
	IMA - CYCLICAL NT RESURFACING	Т	Т						
0800	606.362	881.000	881.000	4.50000	3,964.50	3.00000	2,643.00		
GUARDE	RAIL ADJUSTED	LF	LF						
0090	618.14	193.000	193.000	26.00000	5,018.00	25.00000	4,825.00		
SEEDING	METHOD NUMBER 2	2 UN	UN						
0100	619.12	193.000	193.000	26.00000	5,018.00	20.00000	3,860.00		

Counties: AROOSTOOK

Maine Department of Transportation
A True Copy:_____

Letting Date: March 27, 2019 District(s): NORTHERN REGION

Title : _____

Call Order: 4 Project(s):

023997.00

Contract ID:

...

Contract Time: 10/05/19 COMPLETION DATE

Attest:

Contract Description: EASTON - FORT FAIRFIELD, US ROUTE 1A CPR

Contract Description: EASTON - FORT FAIRFIELD, US ROUTE 1A CPR Notary								Notary Public	
Line No / Item ID Item Description				(1) Eurovia Atlantic Coast LLC aka Northeast Paving		(2) SODERBERG COMPANY, INC.			
Alt Se	t / Alt Member	Quantity	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1 HIGHV	WAY ITEMS		Cat Alt Set:	Cat Alt Member:	LCC:			
MULCH		UN	UN						
0110	627.75	290.000	290.000	4.75000	1,377.50	4.00000	1,160.00		
WHITE C	OR YELLOW PAVEMENT ARKING	& SF	SF						
0120	627.78	194,410.00/094	4,410.000	0.14000	27,217.40	0.12000	23,329.20		
	RARY 4 INCH PAINTED ENT MARKING LINE, WHI LOW	LF TE	LF						
0130	631.12	125.000	125.000	190.00000	23,750.00	150.00000	18,750.00		
	RPOSE EXCAVATOR DING OPERATOR)	HR	HR						
0140	631.172	250.000	250.000	95.00000	23,750.00	85.00000	21,250.00		
TRUCK -	- LARGE (INCLUDING TOR)	HR	HR						
0150	652.34	100.000	100.000	8.00000	800.00	20.00000	2,000.00		
CONE		EA	EA						
0160	652.35	1,220.000	1,220.000	5.00000	6,100.00	10.00000	12,200.00		
CONSTR	RUCTION SIGNS	SF	SF						
0170	652.36	60.000	60.000	950.00000	57,000.00	1,000.00000	60,000.00		
	NANCE OF TRAFFIC DL DEVICES	CD	CD						
0180	652.38	1,020.000	1,020.000	36.00000	36,720.00	30.00000	30,600.00		
FLAGGE	R	HR	HR						
0190	656.75	(1)	(1)	15,000.00000	15,000.00	10,000.00000	10,000.00		
TEMPOR	RARY SOIL EROSION AN	D LS	LS						

Tabulation of Bids Page 3 of 3

							riotary r abilo	
Line No / Item ID Item Description		(1) Eurovia Atlantic Coast LLC aka Northeast Paving		(2) SODERBERG COMPANY, INC.				
Alt Set / Alt Member	Quantity and	Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 1 HI	IGHWAY ITEMS		Cat Alt Set:	Cat Alt Member:	LCC:			
WATER POLLUTION CONTRO	OL							
0200 659.10	(1)	(1)	136,000.00000	136,000.00	150,000.00000	150,000.00		
MOBILIZATION	LS	LS						
Section Totals:				\$1,359,015.40		\$1,872,467.20		
Life Cycle Costs:								
Section Total with LCC:				\$1,359,015.40		\$1,872,467.20		
Contr	ract Item Totals	[-		\$1,359,015.40		\$1,872,467.20		
Contra	act Time Totals							
Contract Life Cyc	ele Costs Totals			\$0.00		\$0.00		
Contra	ct Grand Totals			\$1,359,015.40		\$1,872,467.20		
							I	

⁽⁾ indicates item is bid as Lump Sum

Vendor Ranking

Call Order: 4 Contract ID: 023997.00 Counties: AROOSTOOK

Letting Date: March 27, 2019 11:00 District(s): NORTHERN REGION

Contract Time: 10/05/19 COMPLETION Min: Max:

DATE

Contract Description: EASTON - FORT FAIRFIELD, US ROUTE 1A CPR Project(s):

	Rank	Vendor ID/Name	Total Bid	Percent Of Low Bid
1	003318	Eurovia Atlantic Coast LLC aka Northeast Paving	\$1,359,015.40	100.00%
2	000273	SODERBERG COMPANY, INC.	\$1,872,467.20	137.78%